
1) 27 x 1000

Answer: ____________

2) 20 + 72

Answer: ____________

3) Round 25.04752 to 1 significant 
figures.

Answer: ____________

4) 8/4 + 14/4

Answer: ____________

5) Find the mode of the following set of data:

30, 30, 30, 30, 39, 39, 39, 21, 21, 
21, 21, 20, 20, 20, 20, 20, 20, 20

Answer: ____________

6) 14/
8 ÷ 8/9

Answer: ____________

7) Find perimeter of 
rectangle having 
sides a = 40 ft 
and b = 12 ft

Answer: ____________

8) 05:46 am To 11:10 am

Answer: ____________

9) Round 27.163 to 1 significant figures.

Answer: ____________

10) Find area of square 
having each side (s)
equals 53 m

Answer: ____________

11) 27.7 + 66.5

Answer: ____________

12) 15 - 20 x 4 + 8

Answer: ____________

13) Increase 40 by 35%

Answer: ____________

14) Increase 40 by 35%

Answer: ____________

15) An amount was increased by 9% to 
$165.00. Find the original amount.

Answer: ____________
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16)
18  Find Volume of 
                         Pentagonal Pyramid 

10
10

Answer: ____________

17) Round 7.39 to 1 significant figures.

Answer: ____________

18) 0 x 1000

Answer: ____________

19) Factorise j2 + 9j + 18

Answer: ____________

20) $348.00 earning 1% compound 
interest for 1 years.

Answer: ____________

Total: ___ / 20
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Answers:

1) 27000 2) 92 3) 30 4) 51/2 5) 20 6) 131/32 7) 104ft

8) 05 Hours 24 Mins 9) 30 10) 2809m 11) 94.2 12) 13) 54 14) 54

15) $151.38 16) 1032.2864403534 17) 7 18) 0 19) (j + 3)(j + 6) 20) $351.48
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